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Theoretical Probability of Compound Events
Practice and Problem Solving: A/B

Use the table of probabilities to answer questions 1-3. |
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1. List the members of the sample space that include a taco.
Use parentheses.

2. List the members of the sample space that include cheese.
Use parentheses. A : R A

—-——3. What is the probabmty of choosing a burrito wuth cheese and a taco or
- awrap with salsa? Explain. _ = . _ _°
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Use the information below to answer questtons 4-6.

A basket of 40 pairs of pliers at a discount hardware store includes 5 palrs

of 6-inch pliers. A second basket contains 20 hammers, including 3 large

—— —— hammers:

- —-— 4-What is the probabllrty of drawmg a 6 mch patr of pllers from the t'rst — - '__ _ _
T basket WIthout lookmg’? S e [ i iy e il e

- 5 What is. the probabthty of not drawing. eLlarge_hammer from the second———-- —-———~-—-~--—~‘—-_—__'

_ .. basket without looking?___ - _

6. What is the probabmty of drawmg a palr of 6 lnch phers and N

notdrawlngalarge hammer'? L R S I
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““second basket? Explain. """ T e LTI o eyt
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